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; An aquarium is
;  (make-aq num num)
(define-struct aq (first second))
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; An aquarium is
;  (make-aq num num)
 
�����������������
; func-for-aq : aquarium -> ...
; 
; 
; 

(define (func-for-aq a)
  ... (aq-first a) ... (aq-second a) ...)
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; An aquarium is
;  (make-aq num num)
 
�����������������
; func-for-aq : aquarium -> ...
; 
; 
; 

(define (func-for-aq a)
  ... (aq-first a) ... (aq-second a) ...)

; aq-weight : aquarium -> num
(define (aq-weight a)
  (+ (aq-first a) (aq-second a)))
 
(check-expect (aq-weight (make-aq 7 8)) 15)
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; An aquarium is
;  (make-aq num num)
 
�����������������
; func-for-aq : aquarium -> ...
; 
; 
; 

(define (func-for-aq a)
  ... (aq-first a) ... (aq-second a) ...)

; aq-weight : aquarium -> num
(define (aq-weight a)
  (+ (aq-first a) (aq-second a)))
 
(check-expect (aq-weight (make-aq 7 8)) 15)
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; An aquarium is
;  (make-aq num)
(define-struct aq (first))
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; An aquarium is
;  (make-aq num)
 
; func-for-aq : aquarium -> ...
; 
; 
; 

(define (func-for-aq a)
  ... (aq-first a) ...)
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; An aquarium is
;  (make-aq num)
 
; func-for-aq : aquarium -> ...
; 
; 
; 

(define (func-for-aq a)
  ... (aq-first a) ...)

; aq-weight : aquarium -> num
(define (aq-weight a)
  (aq-first a))
 
(check-expect (aq-weight (make-aq 7)) 7)
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; An aquarium is
;  (make-aq num)
 
; func-for-aq : aquarium -> ...
; 
; 
; 

(define (func-for-aq a)
  ... (aq-first a) ...)

; aq-weight : aquarium -> num
(define (aq-weight a)
  (aq-first a))
 
(check-expect (aq-weight (make-aq 7)) 7)
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; An aquarium is
;  (make-aq num num num)
(define-struct aq (first second third))
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� define-struct��������������������������������
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(define-struct snake (name weight food))

⇒

(define-struct ant (weight loc))

⇒

��



�������������

���������������������������������������������������

'slinky 12 'rats
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0.002 2 3
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� ���������������'()
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'()
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� ���������������'()
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make-bigger-list
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� ���������������'()
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make-bigger-list
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� ���������������'()
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make-bigger-list

'()

(make-bigger-list 10 '())
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� ���������������'()

� �������������������������������������������������������
make-bigger-list

'()

(make-bigger-list 10 '())

(make-bigger-list 5 (make-bigger-list 10 '()))
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� ���������������'()

� �������������������������������������������������������
make-bigger-list

'()

(make-bigger-list 10 '())

(make-bigger-list 5 (make-bigger-list 10 '()))

(make-bigger-list 7 (make-bigger-list 5 (make-bigger-list 10 '())))
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; A list-of-num is either
;  - '()
;  - (make-bigger-list num list-of-num)
(define-struct bigger-list (first rest))
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; A list-of-num is either
;  - '()
;  - (make-bigger-list num list-of-num)
(define-struct bigger-list (first rest))
 
�����������������
; func-for-lon : list-of-num -> ...
(define (func-for-lon l)
  ...)
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; A list-of-num is either
;  - '()
;  - (make-bigger-list num list-of-num)
(define-struct bigger-list (first rest))
 
�����������������
; func-for-lon : list-of-num -> ...
(define (func-for-lon l)
  (cond

[(empty? l) ...]
[(bigger-list? l) ...]))
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; A list-of-num is either
;  - '()
;  - (make-bigger-list num list-of-num)
(define-struct bigger-list (first rest))
 
�����������������
; func-for-lon : list-of-num -> ...
(define (func-for-lon l)
  (cond

[(empty? l) ...]
[(bigger-list? l)
... (bigger-list-first l)
... (bigger-list-rest l)
...]))
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; A list-of-num is either
;  - '()
;  - (make-bigger-list num list-of-num)

; A list-of-num is either
;  - '()
;  - (make-bigger-list num list-of-num)
(define-struct bigger-list (first rest))
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; func-for-lon : list-of-num -> ...
(define (func-for-lon l)
  (cond

[(empty? l) ...]
[(bigger-list? l)
... (bigger-list-first l)
... (bigger-list-rest l)
...]))
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; A list-of-num is either
;  - '()
;  - (make-bigger-list num list-of-num)
(define-struct bigger-list (first rest))
 
�����������������
; func-for-lon : list-of-num -> ...
(define (func-for-lon l)
  (cond

[(empty? l) ...]
[(bigger-list? l)
... (bigger-list-first l)
... (func-for-lon (bigger-list-rest l))
...]))
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; aq-weight : list-of-num -> num
;  Sums the fish weights in l
(define (aq-weight l)
  ...)
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; aq-weight : list-of-num -> num
;  Sums the fish weights in l
(define (aq-weight l)
  ...)

 
(check-expect (aq-weight '()) 0)
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; aq-weight : list-of-num -> num
;  Sums the fish weights in l
(define (aq-weight l)
  ...)

 
(check-expect (aq-weight '()) 0)

(check-expect (aq-weight (make-bigger-list 2 '()))
2)
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; aq-weight : list-of-num -> num
;  Sums the fish weights in l
(define (aq-weight l)
  ...)

 
(check-expect (aq-weight '()) 0)

(check-expect (aq-weight (make-bigger-list 2 '()))
2)

(check-expect (aq-weight (make-bigger-list 5 (make-bigger-list 2 '())))
7) ��
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; aq-weight : list-of-num -> num
;  Sums the fish weights in l
(define (aq-weight l)
  (cond

[(empty? l) ...]
[(bigger-list? l)
... (bigger-list-first l)
... (aq-weight (bigger-list-rest l))
...]))

 
(check-expect (aq-weight '()) 0)

(check-expect (aq-weight (make-bigger-list 2 '()))
2)

(check-expect (aq-weight (make-bigger-list 5 (make-bigger-list 2 '())))
7) ��
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; aq-weight : list-of-num -> num
;  Sums the fish weights in l
(define (aq-weight l)
  (cond

[(empty? l) 0]
[(bigger-list? l)
(+ (bigger-list-first l)

(aq-weight (bigger-list-rest l)))]))

 
(check-expect (aq-weight '()) 0)

(check-expect (aq-weight (make-bigger-list 2 '()))
2)

(check-expect (aq-weight (make-bigger-list 5 (make-bigger-list 2 '())))
7) ��
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; aq-weight : list-of-num -> num
;  Sums the fish weights in l
(define (aq-weight l)
  (cond

[(empty? l) 0]
[(bigger-list? l)
(+ (bigger-list-first l)

(aq-weight (bigger-list-rest l)))]))

Try examples in the stepper
 
(check-expect (aq-weight '()) 0)

(check-expect (aq-weight (make-bigger-list 2 '()))
2)

(check-expect (aq-weight (make-bigger-list 5 (make-bigger-list 2 '())))
7) ��
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make-bigger-list ⇒ cons

bigger-list-first ⇒ first

bigger-list-rest ⇒ rest

bigger-list? ⇒ cons?
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��������������������������������������

make-bigger-list ⇒ cons

bigger-list-first ⇒ first

bigger-list-rest ⇒ rest

bigger-list? ⇒ cons?

(first (cons 1 '()))�→�1

(rest (cons 1 '()))�→�'()

(cons? '())�→�#false
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; A list-of-num is either
;  - '()
;  - (cons num list-of-num)
 
; aq-weight : list-of-num -> num
(define (aq-weight l)
  (cond

[(empty? l) 0]
[(cons? l) (+ (first l)

(aq-weight (rest l)))]))
 
(check-expect (aq-weight '()) 0)
 
(check-expect (aq-weight (cons 5 (cons 2 '())))

7)
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; A list-of-num is either
;  - '()
;  - (cons num list-of-num)
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������������������������������������������������recursive
������������������������������

(define (aq-weight l)
  (cond

[(empty? l) 0]
[(cons? l) (+ (first l)

(aq-weight (rest l)))]))
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